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1. Alleles are different forms for the same:
a. cross

b. trait

c. genetic defect

d. dominance

2. A heterozygous organism is one in which alleles for a particular trait are:
a. identical

b. different

c. pure-bred

d. not dominant

3. If an organism receives different genetic information from each parent:
a. it will have a genetic disorder

b. it is a hybrid

c. it is a pure-bred

d. it is a genotype

4. For a given trait, the two genes of an allelic pair are alike.  An individual possessing this gene: combination is said to be

a. homozygous for that trait

b. heterozygous for that trait

c. recessive for that trait

d. dominant for that trait

5. Curly hair in humans, white fur in guinea pigs, and needlelike spines in cacti all describe each organisms’:
a. alleles

b. genotype

c. chromosomes

d. phenotype

6. In the 1860’s, Gregor Mendel conducted experiments that established:
               a. bloodline theory


b. the blending hypothesis


c. the cell theory


d. modern genetics

       7. The law of independent assortment states what?
a. Every trait is inherited independently of each other.


b. Gene pairs sort always in the same order.

c. Half of an organisms gametes have one allele per pair.


d. One allele is always dominant.
8. When pure white and pure red flowers were crossed, all the offspring are pink.  The phenotype of the offspring illustrates the pattern of inheritance known as:
a. dominance

b. segregation

c. incomplete dominance

d. multiple alleles

For question 9-14 if you need to use punnett squares to find your answer, ask for a scratch sheet of paper.

9. Mendel crossed a pure-bred tall plant (T) with a pure-bred short plant (t). Then he let the F1 offspring produce a second generation. What was the ratio of tall plants to short plants in the second generation? Make a Punnett square to find your answer on your answer sheet.
a. 2 Tall:1 short 
b. 4Tall :1 short
c. 3 Tall :1 short
d. 1 Tall :1 short
10. A pure-bred tall plant was crossed with a purebred short plant to produce all tall offspring. What was the genotype of the offspring?

a. Tt

b. tt

c. Ts

d. TT

11. A color blind man would have the genotype XnY, and a color blind woman would have a genotype of:
a. XnX

b. XnXn
c. XXn
d. XX

12. Parents have blood types AB and O, what are the chances of having offspring with blood type AB?
a. 0%

b. 25%

c. 50%

d. 100%

13. A heterozygous green, round pea was crossed with a heterozygous green, round pea.  What is the phenotype ratio of the offspring?
a. 1:1:1:1

b. 3:1:1:2

c. 3:1

d. 9:3:3:1
14. Polydactyl is a characteristic in which a person has six fingers per hand.  Polydactyl is dominant over the trait for five fingers.  If a man who is heterozygous for this trait marries a woman with the normal number of fingers, what are the chances that their child would be polydactyl?

a. 0%

b. 50%

c. 75%

d. 100%

15. In a pedigree, a shaded circle or square indicates a person who:
a. has the disorder
b. does not have the disorder
c. has a male allele

d. has a female allele

16. In a pedigree, which is numbered with Roman numerals?

a. generations

b. visible traits

c. individuals

d. alleles

 Using the pedigree below answer the following questions
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17. The pedigree above shows the individuals that are affected with sickle cell anemia which are the shaded squares and circles. In generation III, What is the genotype of individual 4?
a. Ss

b. ss

c. SS
d. none of the above

18. What would be the genotype of individual 2 in generation II?

a. Ss

b. ss

c. SS
d. none of the above

19. According to the pedigree above, sickle cell disease is a disorder that is caused by:
a. only recessive alleles

b . codominant alleles

c. only dominant alleles

d. the nervous system



20. Examine the pedigree above, which tracks the inheritance of a RECESSIVE trait through a family.  Which of the following statements is true?

a. The pedigree shows four generations of one family.

b. The mother of the individual listed as “4” must be homozygous dominant for the trait.

c. The father of the individual listed as “4” must be heterozygous for the trait.

d. All of the above.

21. How many children did the first generation of parents have?


a. 3


b. 7


c. 2


d. 1

Key: B=black fur

T=long tail

        b=white fur

t=short tail
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22. The above dihybrid cross was done with one dog who had white fur and a short tail and the other parent who was homozygous black fur with a heterozygous long tail. Using the punnett square above, how many of the puppies had black fur and short tails?


a. 75% black fur and short tails


b. 0% black fur and short tails


c. 100% black fur and short tails


d. 50% black fur and short tails

23. Using the dihybrid cross from number 29, how many puppies had white fur and long tails?


a. 75% white fur and long tails


b. 0% white fur and long tails


c. 100% white fur and long tails


d. 50% white fur and long tails



Genetics PRACTICE Test Honors Biology


Directions: Choose the best answer to the questions below and justify each answer with a BRIEF explanation!
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